D

1.  Eldszoba 8,69m? 1.  Eldszoba 4,23m? 1.  ElBszoba 2,01m?
2. FUrdo 5,94m? 2. Wc-mosdd 1,28m? 2. Wc-mosdd 1,19m?
3. Halé 8,40m? 3.  Konyha 4,73m? 3.  Konyha 4,59m?
4. Nappali-étkezd 18,00m? 4.  Kamra 1,02m? 4.  Kozlekedd 1,85m?
5. Konyha 3,55m? 5. Kozlekedd 2,79m? 5. Firdd 4,11m?
6. Erkély 3,17m? 6. Furdd 5,58m? 6. Hald 17,06m?
7. Halo 10,38m? 7. Szuldi halo 17,06m?
8.  Szuldi halo 19,85m? 8.  Nappali 18,88m?
9. Nappali 20,81m? 9. Etkezd 8,54m?
10. Etkezd 8,04m? 10.  Erkély 1,90m?
11.  Erkély 3,32m?
;;;;;;;;;;;;;;;;; Osszesen: 48,03m? Osszesen: 82.62m? Osszesen: 77,89m?
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E" lakas F" lakas G" lakas
1.  Eldszoba 2,62m? 1.  Eldszoba 3,07m? 1.  Eldszoba 3,07m?
2. Wc-mosdé 1,20m? 2. Wc-mosdé 1,53m? 2. Wc-mosdé 1,53m?
3.  Etkezd 14,93m? 3.  Etkezd 16,64m? 3.  Etkezd 16,64m?
4,  Kamra 1,75m? 4,  Kamra 1,42m? 4,  Kamra 1,42m?
5. Konyha 15,56m? 5. Konyha 15,84m? 5. Konyha 15,84m?
6. FUrdd 2,92m? 6.  Szuldi furdo 4,52m? 6.  Szuldi furdo 4,52m?
7. HAalo 12,39m? 7.  FUrdo 6,04m? 7.  FUrdo 6,04m?
8. Halé 11,94m? 8.  Nappali 33,64m? 8.  Nappali 33,64m?
9.  SzulGi halo 12,71m? 9.  SzulGi halo 21,21m? 9.  SzulGi halo 21,21m?
10.  Szuloi furdo 6,59m? 10. Halo 20,64m? 10. Halo 20,64m?
11.  Nappali 34,72m? 11.  Haloé 9,83m? 11.  Haloé 9,83m?
12. Dolgozé 18,85m? 12. Gardréb 12,70m? 12. Gardrdb 12,70m?
;;;;;;;;;;;;;;;;;;;;;;;;;;; 13.  Erkély 18,85m? 13. Terasz 63,90m? 13. Terasz 48,33m?
Osszesen: 137,42m? Osszesen: 213,29m? Osszesen: 176,26m?
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2-3. EMELETI ALAPRAJZ
M=1:100

lakas
lakas
lakas
lakas

+0,00 = 120,68 Bf.

TETOTERI ALAPRAJZ
M=1:100

1. 1db"F" lakas
2.1db"G" lakas
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